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Lab Report: Idle Free Schools, A study of Eagle Peak Carbon Emissions by the Week-Day
(Experiment: Using the Scientific Method)
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Independenf Variable (factor that I am Tef'hng/ changing between each trial):
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Dependent Variable (responding fuc'ror- that I'm measuring):
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Control Variables (factors that I have to keep constant [same] so that it will be a fair test):




e 4, HypoThesus - - -
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(the dependent variable will respond in this way)
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(what research said that makes me think that this is how the dependent variable will respond)

---------------------- 5. Materials: -

Each Researcher should have:
e Clipboards
e Pens
e Watches or Cell Phones that tell time
e 20 Observers to collect data each day

--------------------- 6. Procedures:--- -—--

1. The following steps will be done for several days in a row, right after school, during pick-up time
(2:35-3:00pm)

2. Groups of students take data sheets watches and clipboards out to "drop-off/pick-up” zones of
school campus 10-15 minutes before drop-off

3. Students record data about vehicles in the zones, including: Type of Vehicle (V=car,
T=Truck/SUV), Vehicle Description, Arrival Time, Is Vehicle Idling?, Depart Time and #
Minutes Idling (if idling). One group of 10 students will be in the Bus Area and one group of 10
students will be in the Front Circle Area. Students will work in groups of 4.

- : ----7. Data Collection: -
(*Raw Data and Calculations are located on separate Data Collection and Observation Forms)
Data collection dates: 12-5 , 12- , \2-F =,
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---------- 8. Observations:
(*See Data Collection and Observation Forms)

9. Graph: Amount of Carbon Dioxide Released into Atmosphere by Idling EP Cars:
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---------- j -----10. Results (Data Analysis)--------- -
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Was my hypothesis correct? I conclude that my hypothesis was: __h O'{' (o I’TCCI
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The data can be used as evidence (proof) to prove my conclusion. The data we collected

supports my conclusion in the following way: M“Mm@&%—
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According to the Extrapolation of the Data, Eagle Peak idling cars consume Cileis

gallons of gas yearly, which contributes (adds) ___ 4 , 988 | bs. of carbon emissions to the

school atmosphere yearly. At the current rate of $ ﬂ per gallon, this wastes $
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The research can help us understand our results, and make wise choices for current and

future generations. The research says that: childiren are allected more
by cacbon £miscions becanse.

What should we do with this information? I think we should: ‘f'a,r-ﬁ et 1500(_&3 a_('
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Mistakes we made during this experiment might have included: We Stn ¢ted A

e We a1 T "aoue,ahm e
e bell rang- 0 efnjw end -—FHme W&S noT recamlea(




